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Mock Paper

E48H
Instructions to Contestants:

1. A&58E A8 O dERAEE -
Each contestant should have ONE Question-Answer Book which CANNOT be taken away.
2. ABEH5EHE  SHEAESE - 258 8BB4 - 851007 - FEAND -
There are 5 exam areas and 5 questions in each exam area. There are a total of 25 questions in this

Question-Answer Book. Each carries 4 marks. Total score is 100 marks. No points are deducted for
incorrect answers.

3. BREXRSTE B84 L -
All answers should be written on ANSWER SHEET.
4. EEHRE  ASFEMHFELE -
NO calculators can be used during the contest.
5. ABHRPABETLA—EMRLCAIZER -
All figures in the paper are not necessarily drawn to scale.
6. CEETER  AoEGWD -
This Question-Answer Book will be collected at the end of the contest.

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.




BEERETE EBA -
All answers should be written on the ANSWER SHEET.

Red @A O BE -

THIS Question-Answer Book CANNOT BE TAKEN AWAY.
AEEZERE  UZ7EREE - SRIZSEERA JBERBUEER -
DO NOT turn over this Question-Answer Book without approval of the examiner.

Otherwise, contestant may be DISQUALIFIED.

IHZERE (5122508 ) (8BB4 BHREBEAHD)
Open-Ended Questions (1%t ~25™) (4 points for correct answer, no penalty point for wrong answer)

Logical Thinking
Zug DA

1. Given A and D are two non-zero digits and the 2-digit numbers formed by these two digits have the
following properties:

1. DA can be expressed by a product of 2 and another prime numbers;
2. AD can be expressed by a product of 2 and another prime numbers;
If A>D, find the 2-digit number AD.

S A K D BREFFZHA - ENAEM BN AMRUBEL NMEE
1. DATLIEEM 2 M— BB ;

2. AD LI E A 2 M— BB ;

= A>D - KMIMIEAD -

2. There are chickens and rabbits in a cage and the number of rabbits is twice the number of chickens. They
have 340 legs in total. How many rabbits are there?

HRBEE  RNWEEZH2E - HAKE3MIK  BREZVE?

3. Amy is 10 years younger than his brother. Uncle’s age is three times of the sum of Amy’s and brother’s
age now. Six years later, Uncle’s age is two times of the sum of Amy’s and brother’s age. Find the age of
Amy now.

VERFFD 105 MABVESSLENTIER 2031 - AEE - BENER2TEN
SPSEE TR 2 5 - SRYEREREL -

4. John wrote a 4-digit number on a piece of paper and asked Peter to guess it.
Peter asked: “Is the number 2956?”
John replied: “Three of the digits are correct. The positions of those digits are all wrong.”
Peter asked again: “Is the number 73247
John replied: “Two of the digits are correct. The positions of those digits are all wrong.”
Peter asked again: “Is the number 4962?”
John said: “All the digits are correct. The positions of those digits are all wrong.”
Given all the digits in that 4-digit number are all different, what is the number written by John?

WER—E 4 BE—RE L - WWEERIBEE -
BISMHE T EREEES 2956 7 |
BLUBBRREREER  BAEARESY  FREAESBNSHY  USHELARBEM/NY - BREWETATTONY -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BEERETE EBA -
All answers should be written on the ANSWER SHEET.

HEHEIE  TEEA —EHUE LR - BEESLEHUNMUEESERMN - |
RSB T EREEEE 73247 4
HEHEIE T EEAMEHUEE®RY - BEELHUNNELSERMN - |
RSB T EREEEE 49627 4

AFOE T ERAIAHUEZLER - BEREELEHUNMUEEZER - |
SHIEE 4 M8 4 B A - SKOBB LN T -

i

t

i

5. There are 7 pieces of white chopsticks, 6 pieces of yellow chopsticks and 5 pieces of brown chopsticks
mixed together. If you want to get 3 pairs of chopstick in the dark, in which 2 pairs of them are of the
same color, at least how many piece(s) of chopstick(s) is / are needed to be taken?

BAEAR =08 WReRL2RIB 7R -6 RM5R - IBEMEE—IE - ERIED - IREWEL
BRrPRNEMBHERRBN —HARBARHNHR T  &PENZIOR?

Arithmetic

&g

6. Find the value of 2222x3333+3334x1111.
5K 2222x3333+3334 1111118 -

+ L +..+ L + L .
2x4 4x6 2014x2016 2016x2018

1 1 1 1
S + o+ + 1E -
2x4 4x6 2014x 2016 2016x2018

7. Find the value of

8. Find the value of 66x65—65x64+64x63—63x62+...+4x3—-3x2+2x1.
SK 66x 65 —65x64+64x63—63x62+...+4x3—3x2+2x1HI1E °

9. Find the value of 199+198+...+101+100—-99-98—-97—...—1.
5K199+198+...+101+100-99—-98—-97—...—1 1918 -

10. Convert E into the decimals.
999
235 .
T =—wE{Em/NE -
999

Number Theory
NG

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



mERERRE BEM £ -

All answers should be written on the ANSWER SHEET.

11. If 9-digit number A2018901B is divisible by 72, find the value of A+B.
+ 9 127 A2018901B O] 4 72 R - SK A+BHI1E -

12. Find the last digit of A if A=8%+18°+28% +...+2018°.
= A=82+18%+28%+...+2018% : Sk AW REB—EAZME -

13. How many 3 digit number(s) that can be divisible by 2 and 3 but not divisible by 7?
BEM 2 A 3 BEBRM ABEM 7 BRI U B/ ME ?

14. A 4-digit number has remainder 1 when divided by 3, has remainder 2 when divided by 5 and has
remainder 3 when divided by 7. What is such largest 4 digit number?

—REIMAUHER3ER 1 RIS ER 2 - BRI 7 87 3 - BMEEMNUBEAZZD ?

15. The sum of 8 consecutive odd numbers is 144. Find the largest odd number.
H 8 EREESZH AE 144 - KEROFE -
Geometry
Al

16. How many rectangle(s) is / are there in the figure below?
o NEBZMERGE?

Question 16
%16 B

17. Arectangle is cut into 4 equal rectangles. If the area of it is 252cm?, how many cm at most does the
perimeter increase in cm after cutting the rectangle?

—ERASEEEIRL 417 - ERDIENEER 252 ¥ HEX - YA Z BEREZIEM F 2/ DEXK?

18. Small cubes with side length 1cm are combined according to the pattern shown below, if there are 12
layers, find the volume.

EBRAL/NIHLERZUMREESHIE - IREA 12 8 - Kkl -

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



Aa T

All

SEZESE [SBA Lo
answers should be written on the ANSWER SHEET.

19.

20.

21.

22.

23.

24.

Question 18
% 18

A big rectangle is formed by 1001 squares with side length 2cm. Find the minimum value of the
perimeter in cm.

1001 BE R 2 BEARWIER WA —ER ST - KEASEBFRNE/IVE -

The length of side of a square is 12.56cm. If the perimeter of the square is the same as a circle, what is
the radius of the circle? (Take 7 =3.14)

—(EIESTERE RS 12.56 B - E RN EFRAM—EEEARR - SKzBEA+ &K ( ir=314)

Combinatorics
HEEE

A flight of stairs has 10 steps. David can go up for 1 step or 2 steps each time. The 5" step cannot be
stepped on as it is destroyed. How many way(s) is / are there for David to go up the stairs?

—EA 10 RERE - KEES—P oI L1424 - EPE 5 RESIBERMASER L - BXEE

tEEgwmtas @A

Amy needs 12 days to finish a task. Paul needs 24 days to finish a task. How many days do they need to
finish the task if they do it together?

YEET 12 ASR—H T - REEE 24 FERE—H T - BMMSESRTE  B22/)
% ?

When is the hour hand and the minute hand overlap between 5pm and 6pm?
ENFSRE6R A - KHMDEHIFESE ?

Numbers are drawn from 2018 integers 1 to 2018. At least how many number(s) is / are drawn at random
to ensure that there are two numbers which difference is 29017

f£1 % 2018 %= 2018 B b/ MEEELZ/VME - A MEAMEE 2 Z2 901 ?

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. Marks will NOT be given for incorrect unit.



BRHEERRTE EEH L -
All answers should be written on the ANSWER SHEET.

25. If Agnes goes from point A to point B, each step can only move up or move right. How many way(s) is /
are there if she must pass through the point O?

RMEREE ARAES BRI - BFReED LamaE - HEUWRZLEB OR - HAZVEEX?
B

O
A ——
Question 25
%525 &

Y

~ End of Paper ~

FURBENEBER  Eif8ERENE  SREAEDHITNE - ST EERSH/NE - SHRBURKABTEOOEH -
Write down the answer in the simplest form. If the calculatlon result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. Marks will NOT be given for incorrect unit.



